202 08E REFXREBEEESHBABHTHESE

H20204E7TH1H 202146 H30H

i AAEE 45,940,000 [
% Ha%E 45,940,000 [

A DE [EXTHED
N BIEE |[FTEIZHL
el TEHR| 3um | woam w5
1) Xt 11,800,937| 12,408,017 A 607,080
1 HEXRfGE 10,801,297 11,083,877 A 282580
1 HiexR £ 10,801,297| 11,083,877] A 282,580(20194F FE#% & & UNSHEE D 15%
2 EmxitE 999,640 1,324,140| A 324500
ks 4 P ~ = D=
1 ERXAE 999,640| 1,324,140 A 324,500 E%gﬁgﬁéﬁ\%ﬁﬂmﬁgﬁﬁ‘bmﬁKE':E‘H%Q%
2] EftE 499,614 476,810 22,804
1 FRSEXEEHS 499,614 476,810 22,804
1 FBR£ESENE 499,614 476,810 22,804|2019F E RIS B FEUUHAZED 10%
(3] BigE 7,545,000 3,675,000/ 3,870,000
1 BIEEEMEE 3495000 3,675,000{ A 180,000 (IH:BIR2)
1 HIEEEXBRE 3495000 3,675,000{ A 180,000 (IH:BIR2)
2 HBEFMEENRE 4,050,000 0| 4,050,000 (%
1 BEMEESMRE 4,050,000 0| 4,050,000| (Fr:%
4] Hx#E 15,421,000( 15,421,000 0
1 BXE 15,421,000 15,421,000 0
1 AEEHRXE 15,421,000 15,421,000 0
(5] £BIRA 742,500 645,000 97,500
1 SERA 742,500 645,000 97,500
1 SEIRA 742,500 645,000 97,500 HER - ZERZEDSME
6] [Eft2E 2,082,219 852,292 1,229,927
1 [EfGZ2E 2,082,219 852,292 1,229,927
(18:E2£)
e
= BEEX £t ETZE 678471
1 BREMZE 1,682,219 852,292 829,927 SR SR S S E{ B 285,000/
BLOHEELKEEZE 60,000H
REBARBILE TS 150,000
2 AlEE=2E 400,000 0 400,000/ (FrE%
(7] ®IRA 1,010,163] 1,235,969 A 2253806
1 HIURA 1,010,163] 1,235,969 A 2253806
1 HURA 1,010,163| 1,235969| A 225806 (B:ESINEE . IR, FELFIR
(8] & 6,838,567 5,365912[ 1,472,655
1 f2EsE 6,838,567 5,365912[ 1,472,655
1 2us 6,838,567 5,365912| 1,472,655
= it 45,940,000] 40,080,000| 5,860,000




il DER [EXTHED
P BIEE FTEIZxL
;IE B ¥ H & e A £33
(1) ZIesHEE 9,302,000 8,627,000 675,000( (IB:%%&)
1 HIEARE 2,130,000] 1,375,000 755,000| (|10 : REIEE)
1 RBEXEE 550,000/ 1,000,000 A 450,000
2 EEFRBAOSE 885,000 0 885,000| (Fr:%) 5AFIBERIEERERES
3 LREXE 340,000 50,000 290,000 fEBUFEEZEZANRIN. L7y —MRFEIRIK
4 BULHREE 355,000 325,000 30,000| #HFZLHEERES . HBEERBES. BREE
2 HEHILEHMAE 946,000 537,000 409,000| (|B:FEHIEE)
1 B E 680,000 0 680,000 (Fr&%) £ HHERR
2 FREMEE 120,000 0 120,000| (FTE%) BHFE R, WAL DILEEZEZLFE S
3 BEZITIESE 146,000 0 146,000 ($7E%)
EREMEE 0 200,000] A 200,000| (BEE)
FEMEE 0 337,000] A 337,000 (BEE)
3 EEUHESEME 2,487,000/ 1,920,000 567,000| (IB:FI{ERHER)
1 FHOSHEEEE 800,000 1,200,000| A 400,000 (|B:#EEBHEEE) 20HHIETE
PN (IB:FtEHEE)
2 MESHEE 720,000 720,000 0 = AABN R AP S SRS
3 HEHILEEE 967,000 0 967,000| (FrE%) MEERAA K. MBS ASERATS
4 EOHELME 580,000 840,000| A 260,000|(IB: FELHFHIEE)
1 BONEHREE 520,000 840,000| A 320,000(fEFEDY., FELIREE. HIEFREZILBHMER
=, . R HEEFD H L B RGES
2 BOYEHLHLESE 60,000 0 60,000 g@%gg&ggﬂ%@;ﬁﬁ n=
5 MEEANBERESE 709,000 1,855,000] A 1,146,000 (|18 : #t S FHEE)
(18 SEMEMEE) AN EEFMEEER. %EE
1 EREERIMEMEE 709,000 710,000 A 1,000 BIEEFHE S . 4RI, MR R ERIMEES . 0%
ERIBREE LT OERDES
HEBLEXE 0] 1,145,000] A 1,145,000| (& B)3-1-3IZ %5k
6  FHEGRE 1,550,000| 1,300,000 250,000| (I8 : Fr B HAE)
1 HFEBIRE 600,000 500,000 100,000| —1EBNRK A4S ER UEERE
= A Z
2 BASE 80,000 100,000/ A 20,000 %&ggj\}@gﬁ;ﬁuﬁm e o
A= PN A A= X0
3 HERERHER 450,000( 500,000/ A 50,000 g’é%’%ﬁﬁg’gﬂﬁf’;@?%%g‘“’fégg"’“**
4 EIEHBRE 200,000 150,000 50,000| — 5Bk SO ERESEEEE
5 HERIEIME 50,000 50,000 0| —EBIRL
6 HERADHE 170,000 0f 170000 (#E%) Higbi= ., (RET =
17 BULEEE 900,000 800,000 100,000| (IH: ZILZESE)
1 BLEEE 400,000 450,000 A 50,000((|H:ZILRELEB)BILBERRE
2 HEBAE 150,000 0 150,000 (FrEk)
3 BLEHEE 350,000 350,000 NETEEEDPI
(2] =xEmE& 11,893,931| 11,262,949 630,982
1 K& 11,893,931| 11,262,949 630,982
1 RS 3,600,431 3694449 A 94,018|20194F EER B IRAKEED 5%
2 #EBIEE 5,408,500 5428500 A 20,000|& i1t - EEBIRK
3 REE 1,350,000 250,000{ 1,100,000 |3ZWHE - SE R IRE
4 HEEEFEE 45,000 140,000 A 95,000(##EEEMMEERER
5 ByERE 970,000/ 1,100,000 A 130,000
6 BEE 520,000 650,000] A 130,000|FEESMIESR
(3] =REE 1,520,000] 1,490,000 30,000
e 1,520,000] 1,490,000 30,000
1 HRE-HBEMESE 720,000 720,000 0
2 BEL-BIEEERE 250,000 250,000 0
3 EElAE-HPESESE 250,000 250,000 0
SHILFICHTIZEER. ERRES . HRBREEE
4 FERE 300,000 270,000 30000\, BEFXICHTIEREES. BHRABEXNKRES
. SEABER
4] E#BE 13,283,000( 9,280,000 4,003,000
1 EXE 13,283,000( 9,280,000/ 4,003,000
1 ERE 10,000 300,000f A 290,000
2 _A\BE 7,134,000/ 6,130,000/ 1004000 ZXESEE . BRHERESHS BEHETY
3 BiEE 700,000 800,000] A 100,000| & fEMAGIES. EXEHS
4 HMEBEEE 1,079,000 0| 1,079,000| (FiE%) HEKE  ZHE. BLEE. EHE
5 ERE 300,000 300,000 0
6 ERE 1,560,000 450,000{ 1,110,000 1%%E%A§\1%&'J:Z¥4s1%:%1%?%@*4(@@“%5&)
7 m® 2500000 1.300000| 1,200,000 EMEE. BEE. BHr. SBEERE. FTHH.

EHMFANE. ARGR




il DER [EXTHED
Y AEE |[FEICHL
;IE B ¥ H & e A £33
(5] [EftE 7,020,165| 6,442,153 578,012
1 [\t 7,020,165 6,442,153 578,012
1 {mEEBLEMEFS ]| 1,200,000 1,200,000 Ol EEY —REHREE R A4 2E
2 EEEILENGE 3,580,165 712,153  2,868,012|2019F ER & E K EEi1BEED 10%+3005 M
3 HEENEEEGE 10,000 300,000] A 290,000
4 EmwamBmHEWI2EME| 1,000,000 2,000,000] A 1,000,000
5 HEBARBIER{GE 10,000 10,000 0
6 HBEFAGTEFRHENE 10,000 10,000 0
7 KERIERASHENE 10,000]  1,000,000] A 990,000
8 REAR—ESiEMA2| 1,200,000 1,200,000 0
FEEENEELHENS 0 10,000/ A 10,000] (BEH)
(6] REEADLEMRSE 499,614 476,810 22,804
1 FBRAOKEMNE 499,614 476,810 22,804
1 FER0SENS 499,614 476,810 22,804[2019F ERAS EEIRIHNEZED10%
(7] Fiw& 2,421,290 2,501,088 A 79,798
1 FiEE 2421290 2,501,088 A 79,798
1_FiEE 2,421,290] 2,501,088] A 79,798
= it 45,940,000] 40,080,000| 5,860,000




